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BUTEX Admission Test 2006-2007

0. x=2-izwx’-3x®+x+ 10 aqa v Frfa 77|
Wﬁ X=2-i =:>(Y—") = (-i)* = X 2_4x+4=-1=x"—4x+5=0
X° =32 +x+10= X —4x*+5x+x*—4x+5+5
—\(k ~4x+5)+ 1(x*—-4x+5)+5=5 (Ans.)
02. Ify=acosln (x) + b sin (In x), then prove, xzyz +Xy,+y= 0

NIy, =—.a.sinln::b{.l-+-1:nt:n::u5[11:-{.l = Xy, =—asinlnx+bcoslnx

X X
| 2
= XY, +Y, =—acoslnx.— —bsinlnx.— =>X2Y2 +Xy, ==y =Xy, +Xy,+y=0 (Proved)
X X

03. 'Calculus' *=ifote sfetaia Faatat astg T T AT TS T @F g7 @ T TF "0’ AF?
FYi: 'Calculus’ =%ibte (6 8 I SR IA@Tu —>2,1- 2, c —> 2

W@Ww=%=lgg I (Ans.)
b A

04. «fo Jraa A< el v 79 7 (4, 5) Rqre SRfge aR A X +y +4x — 6y — 12 = 0 057 & A I |
YR X+ Y +4x— 6y —12=0 = xX°+ ¢y +2.2x+2(3)y-12=0 .. @H(-2,3)
- Fefr graa e = /(4 +2)? +(5-3)* =/36+4 =210
. foeefr ques sifieat = (x — 4) + (y — 5)° = (24/10)?
=X —8x+16+y —10y+25=40 => x>+ —8x—10y+1=0 (Ans.)

05. (i) =W g 39 3 ﬁ cosxdx (if) camer ek = 5 [1+cus —J dx
g \/Z-s::in2 X .
Ly A COSX let, sinx = m
FAI: (i dx ’
() .[u JZ—sinz < dm = cosxdx
_(MF_dm Iljﬁ dm x |0 /4
0 T 0
V2-m V() - m? m |0 1
/2 |:7§ |
— SIH_IE =S]:['l_ll.—_E (AI'IS.)
V2], 2 6
i) [(1+cos?x/2) dx = 1 2 :
(ii) cos’ x :’EI(HZ cos? x/2) dx == [(2+1+cosx) dx

:bl_[(3+cusx)dx =%x+—;—sinx+c Ans,

06. «FE (TG 2 fOE T GfE AT 30° @t 20 /o7, @t @i TR 99 Sre W | woR <o
(TG 1 DR TRrs M0 4T (T | (TG RRSed THIae) e ey 3 |
FHAMY: WA T, B (A0 40 306 TR 2T 8 t 07 ot C (AF & S 407 e |
wizte, OB=2m ¢ OD=Im ..BD=Im
B.A<”°

: 1
IR, BD=1=—u51nc:t+Egt1=>1=—205in30°t+%gt =-10t+4 ot? \
— 49t =10t-1=0 .. t=2.1363s (T AT =7 ) D C

. RETRTEE o A9 = OA =ucosat =20c0s30°x2.1363=37m (aF) o A

JECE | u7
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07.* w=ifSs sexyr 1237 & 6N Wi 4 99

st 2 | 1237
2 | 618-1
2 [ 309-0
2 [ 154-1
2 | 77-0
2 | 38-1
2 [ 19-0
2 | 9-1
2 [4-1
2 [2-0
2 [ 1-0
0-1 .. (1237)10=(10011010101),
08. wﬁy=f(x)=;;‘:z T, SIRET oite @, f (y) = x.
4x—17 16x—28—14x+28
4x-7 _ 4y—17 4 2}{_4_7 2x—4 2x
e Y )= _,f(y)=2y_4=2 4x=7_,  Bx-14-8x+16 2
2x—4 2x—-4

- f(y)=x (Showed)
09. 1 T 350 *I{@ RANGTET TS CAIGAHS NYITT G AT (NSAT 27 | FATT T QEAF TR T67?

TAY: G AT 737 72wt = 350 [7° =343 <350, 8 =512>350]
g Tl g A =7

s 7 1
-, Probability =—— =— (Ans.
Y 350 50 ( )
10. AB 9 AC R 7foq lieqd @ 3x +2y - 12=082x —y— 12 =0 AB @@ &9 59 AD @@
e T o
AMgE: 3x +2y—-12=0;2x-y—-12=0
emEye, Xy 1 X _y _ 1 D
—24-12 —-24+36 -3-4 —36 12 -7 C
36 12 36 12
e X =—) _——— ; =l —, ——
7 Y=g &) [7 7]
A
AB -93 5, =2 ADuﬂame=g 5
2 3
v + 12_2 [x._ 35) =2ly+36=14x-72
7 3 7

= 21y—-14x+108=0 (Ans.)
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11. 50 m/s Cost ot @2 o8 s I 25cm ST TS A | GFL @ T T 9 om o TR T

AN T© (@0 QRTT R
) 2
2S 2x.25 -
; , vo= 50 '\-F:O;‘Jﬂ-_—'sﬂ v2=0
S V5 =vg —2as = (50)*- 2 x 5000 x 0.09 = 1600
25cm 9cm

S va=40m/s
12.* Soifasyer i@ onfT a nﬂc@mwwawwﬂatmvﬁwmﬁmﬁwﬁﬁﬁm THO[

0°C =z | o #iife Swel Fofe?
STt T R, 2 e Swet 9°C; Sreif st S @ T A =m kg

ST FEF e ©if : °C S T Al e 0°C siifie “iffee zre IRTS O Q) =11_18w& =

4200 m 0 [ wieeifFs oret S, =42001/kgK ]
TaF T9T PR 7 : 0 °C S Ed 7T e 0°C ST SIfire Afaee Zre gt Q, = mlf = 336000

m. [lf = 2T =0 SiewifEes F@ert = 336000 J/kg/K] Jkg 'K
Q=Q =4200mb= 336000 m : 0 =3360/42=280°C (Ans.)

1
13. o @36 couta 987 9NY 6.93 e | Fofim #c7 fog AfmT @2 (CHHTIT @ T th =—FE APFR?
In2 0.693 0.693 4
Y = — = = =0.1da
Te=0 4 T, 693 7

— —)t _Iq_ﬂ_ =it | .. ______]__N' :’—]-_=E-lt
N N[]E- — 10 —Nﬂ c [- N 10 ni] 10

In 0.1 ==\t = 2.3026=At = t= 2*3”126 —23.026 day. [Ans.]

14, «eft BrET T 8 (T TSR e HA! WGE 100 @2 200 | I FOAR (ST 220 SFF A, ¢

Foaie < AR Sroe 3 TP
N. V. Ns.V
N, V. Np 100 *

15. @i a@ s ey 98 37 eame I 512 cycle/sec @R @ ST A AEy 12 e g
Tl yag 35 cm | TG Sqd @ a9

atye: £= 512 cycle/sec; %= 0.35m = A=0.35x2m; v=fA =512x0.35%2 = 358.4 m/s

16.% @5 e 72 T Iedd 7 G 739 75 om | S FASH T IR FACT A2 6 297

HATYI: FAO[ :_lf f=75=-0.75 m (T4 (&%) = —ﬁ =—1.33 dioptere.
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17. T o1 GHEGRT GFAEE IPMesE @) 28 B fifT s@ehm ga 12 & widte seoq g | fify
<o offm oSS 700 W @ wr TIRtar FEHTEE ¢t 40 W @31 I FFIEor off afsvs s § 5t
(T R 5 Bf =@ e AT ©TF T=F (<78 AT e Fo Sia? (9% I22 Zod M7 85 faw; afs Tof oy
<=1 2.50 Bre)

SAAMYIE: NG FFMT = 365 — 85 =280

I To1 / e = 71 851 (e f[{ptet 561 = 9 5ot

afefs AT e efsim «ifE <=5 = pt = 700w x 9 h = 0.7x9 = kw h=6.3 kwh

26T Rt AT efsfim ¥ <6 = pt = 40w x 9h = 0.04 x 9 kwh = 0.36 kwh
eifsT (@6 *ifs 496 =6.3x28+0.36x12=180.72 kwh

IR0 (6 W& 996 = 180.72x280 = 50601.6 kwh

AfSH 2TBRG wa T = 2.50 Biat .- 927 ¢itw W@pfes e = 50601.6 x 2.50 = 1,26,504 Bt

18. @3 *midT Bow ayE snwe Mo 3x10° m™ G we R 1.5x107° = @ “mivda SR sriwey
@ ffa o2

gmeT Moy 3x108m™? 5 5101 m=2
= ——=2x10"m~.
weq e 1.5x10
19. 3 fAfS gare anasita Al T TMe qF OIS =1 Ta¥ AT | A [{GC Jeie @ Tt o (FITT i

T | R S weite faafe ¢ =6 e, tand = tand sina.

\Y% \Y%
AOYE: tand=—; tano =— .. H, = HcosH
¢ - - 1

1
WRIE, 0= IR F4ree (TS ARIFe &

Y AT ST =

tan ¢

tan¢: v = b4 Ib-tﬂnd):tmlﬁ _1 —btam’i:tanQ).sina 0
Hcos® Hcos(90° —a) sina
20. i GG 3fe 0°C @ 100°C T=oy IR | GF ST I wFet (%) F97
’ TI 2773 . T|=273k
AYAFTFS! 1) = _T_g x100 = 1—ﬁ x100=26.809% T, =100 + 273 = 373k

21. H e R[Sy Hifbrem [ ford |
Aty I e Fifarea e e G, I B, sness B, s Hive, gae e |

22. 2.40 a1 FeSO, & H,SO4 19 5t Gifse $9® Fo 4 KMnO, atHe 7?2
soigiE: 10FeSO4 + 2kMnOy4 + 8H,SO4 — 5F62(304)3 + 2MnS04 + k,SO4 + 8H5,0
S g=amy
FeSO, @ 9dise ©9 = 55.85+32+ 64 =151.85
KMnO, @7 wreifes ©q = 39.08 + 55 + 64 = 158.08.
TP S, 5 x 151.85 g FeSO4 = 158.08 kMnO4
158.08 158.08x2.4

kMnO, ; 2.4g¢FeSO, =
5%151.85° ) By = 151.85

=0.4996¢g

lgFeSO, =

ia'
‘1.
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23. 1T R o Brard 0w e wwwwmw AR TAEET 4I9re EGE I3
Ba, Ca, Li, K, Fe @ Ni |

T Ba — & [1-A T T TR 41Q
Ca—aFill A I vgd JSFR 41T
Li — s JA T {7 A 4TS
K—1A R ed Ll
Fe —> VIII writ ved SR 4R
Ni — VIII PTR o e e

24. 0.IM HCI 8 0.1M NaOH pH @3 TI¥ ¥%?
Fr4t: . 1M HC1 @3 pH = — log[.1] =1 .1M NaOH 47 pOH = —log [.1] =1
~. pH=14-pOH =14-1=13
25. Nylon 6,6 &, 3z9 SvmEsTE! fF2
TAgE: Wizew 6,6 [— OC—(CH;3)4—CONH(CH3)s—NH-],
JISIIE (1) R o smfi| Hy;N—(CH,)s~NH, (i) e ufte HOOC (CHz)4 COOH.
26. faffe R Rl 75 2o o Smam emres 209, 3w 50% 75 zee 30 [HE 5 #fieer?
PCls—— PCl; + Cl,

A 12 = 30 min AT 19 2 L TR @ft S I [
27. G e orEmEr 17°C =S ST 29, T SEE oo weifiefes 939, g saen faed Zo ool | St

T I (T2
BV BV, o M Vo JIYe 5s074273) =580k =307°C.
T] Tz Tl TZ Vl

st 3 (580-290) =290 K (Ans.)
28. et = 99 3 (%) CH3CH = CH, + HBr 2202

CH-CHCH >
(¥) CH3CH; I 3 T on
Br

(“T) CsHsCHj; H KMnO4 >

3[10]

sr4i: (F) CHCH = CH; + HBr — 2223 CH; CH, — CH, Br.

() |
Br

COOH

(o) CsHsCHj3 m;::“n" >© +H,0

AR |




30.

LY
 me—

34,

29, W fee e TS Brermiees Wy i 0.2A R

| 122§

BUTEX S515T N -

/ -

:i::r?ﬂ‘:~ 50 ffFE T sETR T wedne 0.1978g am

Fvita s T | SR ofes s wenre T
samurs: 1= 0.2A 1 = 50 min = 50 x 60 s; W2 =0,1978g; W =ZIt

2o W_ 01978 _ 1597x107 kgC™!
It 0.2x50x60

g s SRS oS, Rams a3 e e o Tee w9 ¢
(i) P:Os (ii] KMnOj, (HI) HzS (I"U) Ca0O (‘U) NO; U 1Y (I\") N325203.2H20

wats: e — Pa0s, Ca0 RF — KMnOg4, NO; faergs — H,S, Naj S,03.2H,0

Put the right form of verbs in brackets :

a) Naney told me that she (go) to Egypt the next day. Ans : would go

b) I look forward to (get) your letter very soon. Ans : getting

c) If you had told me earlier, I (help) you. Ans : would have helped
d) Hardly we (reach) the airport when it began to rain. Ans : had we reached

e) English (speak) all over the world. Ans : 1s spoken

Translate into Bengali.

a) I can not bear such an insult. Ans : I GIF SAF HZY FACS ATICE A |
b) The thief had collusion with the servant.  Ans : (5/f6a Bl AT AP = |
¢) Drought destroys our crops. Ans : I AT T @ 90 |

d) We should not defer anything for tomorrow.
Ans : SRR @M g St Mg o T @ 0 Bfoe 77

e) There is an ordnance factory at Gazipur.
Ans : TEN4ET G0 NF S SE |

Correct the following sentences :

a) He is bent to do this. Ans : He is compelled to do this.

b) The girl prefers dance than sing,. Ans : The girl prefers dancing to singing
c) I find no reason to go there. Ans : I don't find any reason to go there.
d) Money is hard to be earned. Ans : Money is hard to earn.

e) Tell the account of your journey. Ans : Submit the account of your journey.

Fill in the blanks with appropriate preposition.

a) Jerry was accustomed {o hard work.

b) He was confined to bed by an attack of dysentery.

c) The teacher congratulated the students on their bright result.
d) Man has unquenchable thirst for Inowledge.

e) My father prevented me from going there.




